N = 0l & At & Ml A

20188 &= =0& =ZMd SEH HAH
SN SRBIMYL
Bu: 2N 12 23
Sl ATSANM(LBNE SEA) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
F=EHESZI AL A 10,870,490 15,545,334 A4,674,844
= 2,539,000
J| 239,000
Al 8,092,490
LRI 125 =22 3,638,453 11,233,072 AT,594,619
= 1,906,000
J| 182,000
Al 1,550,453
SHBZNA(EHME SE3I) 3,638,453 11,233,072 AT,594,619
= 1,906,000
J| 182,000
Al 1,550,453
A2 S22 ZHIALY 352,520 302,160 50,360
401 AIEHI L 2 CHYI 352,520 302, 160 50,360
01 A& HI 350,000 300,000 50,000
OARE ot=2)1 H & E&EAMY 350,000
03 AlE 2 THHI 2,520 2,160 360
O2n&2 dt=21 JH ¥ ZLAMY 20U
350,000,000& = 0.72/100 2,520
ot=E RAEH 7,332 11,955 A4,623
201 £B-2dH| 1,500 1,500 0
01 At 22l 1,500 1,500 0
Odt=& =ZZA M-8 L 2AH| 1,500
202 o4dl 5,832 5,832 0
01 = LH o4 1 5,832 5,832 0
OBt+E % 2+FNM PREX
81,000& = 3% » 2& « 123l 5,832
Hi=&Hl =33 A 2elid 10,000 10,000 0
401 Al HIZ 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
Oti=&8l AISZAH(70HA)Y AN A2AZ X
AF(L=2km) 10,000
S=EHSY 2l 2,300 2,300 0
201 £B-2dH| 2,300 2,300 0
02 =24l 2,300 2,300 0
Of+=EZZ MRS 150,000& * 12&€ 1,800
ORF=EIZE =4l 500
St 40t+=E83 29 X 3,400 3,400 0
201 et 3,400 3,400 0
02 23=2gHl 3,400 3,400 0
Ost=4&ot=5 83l 3,400




SN 2FEBIANAA
Bu: 2N 12 23
Sl ATSANM(LBNE SEA) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
([ N=R=]] 532,901 1,419,257 A 886,356
801 Gl HI bl 532,901 1,419,257 A 886,356
01 LBHoil bl bl 532,901 1,419,257 A 886,356
oolglsl 532,901
=21 JU(FEE2F st==FHl) , 723,000 9,085,000 A6,362,000
= ,906,000
J| 182,000
Al 635,000
401 Al HIZ 201 I , 723,000 9,085,000 26,362,000
= 1,906,000
J| 182,000
Al 635,000
01 A& HI , 713,232 8,059,340 25,346,108
Ostd=2+ st==ZH A , 713,232
= ,906,000
2l 182,000
Al 625,232
03 Al 2 0HHI 9,768 25,660 A 15,892
O EZF o= FHIALY AIZR0HbI
2,713,232,000& * 0.36/100 9,768
St=% SZRJt & JFAUNRES M4EHEH 7,000 15,000 28,000
207 A RO 7,000 15,000 A8,000
01 A3l 7,000 15,000 A8,000
Oot=& SZ3I & JUXNREs ¢E 29 7,000
=H =2&d Hd , 186,798 2,555,263 A 368,465
= 633,000
Jl| 57,000
Al ,496,798
FIEANE 2 (=2 SE35H) , 186,798 2,555,263 A 368,465
= 633,000
J| 57,000
Al ,496,798
ot=3SZ XY 222 480,731 445,875 34,856
201 Let24d] 415,791 377,995 37,796
01 At 22/l 58,200 47,800 10,400
Oogzze+d 58,200
SRS 60,000 » 2% = 120€ 14,400
o= 60,000& » 2H 365 43,800
02 =224l 357,591 330,195 27,396
03323 2 HA 333,991
clIIR3 25,083,000& » 12& 300,996
cMol+=ER3 200,000& = 12& 2,400
CIHAMNESZ 200,000& = 12& 2,400




SN 2FEBIANAA
HE: SSALN 2THH N
Eel: SHIZAE 2 (=ML SE3H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oxg BENdRE S
50,000& = 3CH = 23| 300
o Xt S XAl 100,000& * 3CH 300
oksx HIEA =8 25,0003 = 3CH 75
oCCTV M E3EMER 100,000& =+ 123 1,200
oAYUOHME 3 HI 100,000& * 12| 100
o ROIAFBIAAE RXl2e
110,000& * 122 1,320
oXMI|etM el E A 1,575,000& * 12&€ 18,900
CHIY, RZNA 222
500,000& = 12& 6,000
O =l 1,500,000& * 5E 7,500
OXt& s Xl 250,000& * 3CH = 128 9,000
O&Il Il AMN===2 1,100,000 = 13l 1,100
OAH=EF =8 1,500,000& * 43| 6,000
202 O4dl 6,480 6,480 0
01 = LH 4 bl 6,480 6,480 0
Odt=Hel gR=2
81,000& = 4% » 2& « 103 6,480
204 AR HH| 11,400 11,400 0
03 EZ YR 11,400 11,400 0
oerasl 50,000& = 199 = 12& 11,400
401 Al HIZ 2018 38,000 50,000 A 12,000
01 A& HI 38,000 50,000 A 12,000
OAMSAFAH(ZHAN) & FEAIE FHl 38,000
405 XtatE SHI 9,060 0 9,060
01 XA = ZH SHI 9,060 0 9,060
Ood. ) 2 2,265,000& * 4CH 9,060
St==MMNHIl 9IE el 172,650 169,500 3,150
201 ¢er24] 120,000 120,000 0
02 =224l 120,000 120,000 0
Odt=MMIl ™Mel === 40,000& * 3,000 120,000
307 21201 A 52,650 49,500 3,150
05 RIZt2IE = 52,650 49,500 3,150
Ost=NMHIl & &= A2 52,650
= 6t==M N J| 15,0002 * 3,000& 45,000
ocg&= 30,000& * 255& 7,650
=Xl AlE Fbl 396,859 171,000 225,859
201 Let24d] 212,659 42,000 170,659
01 At 22l 3,300 2,000 1,300




SN SRBIMYL
BE: GSULN 2FBZ HA
Sl BEIEAL SY(FEML SE3H) (S &2)
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
Ox=XcelAld 2HH| 3,300
oMK 2ele &dl Xt
2,000,000& * 13 2,000
SCHEIN(EHAAHLHIEH =42 1,300
02 35244l 209,359 40,000 169,359
O=XcelAld A8 &H KX 40,000
ool E2 el SR 22l (7IHA) 20,000
odI|&Hl RXl2el 20,000
OAFWMSAIE Jls=dHt HIS 61,996
o ot4=X 2l A& (30,000m /&) 34,225
oL XelAl&(8om/Y) 27,771
O33ota=HelAld JI=&s " & 107,363
o 5t4=X 2l A& (30,000m /&) 73,282
o2 XelAl&(8om/Y) 34,081
206 M = Hl 24,000 24,000 0
01 &bl 24,000 24,000 0
=HelAld dBlMEe 24,000
oI MIIXEG =HALE EHME
2! 2,000,000& * 12& 24,000
401 Al HI L £ 0HHI 149,000 105,000 44,000
01 A& HI 149,000 105,000 44,000
Odt=XelAld Jbl| 149,000
cAN4&E FLEL EY 20,000
odot=XMlEUW ZBHSECIANE X 64,000
okE HotE WA 35,000
oBOUXHANE N2 30,000
405 XtabF S| 11,200 0 11,200
01 AL 2B F SHI 11,200 0 11,200
O 2H=32tE b+ 11,200
o&J|0tAA 1~4012 2,500,000& = 1MIE 2,500
oZ2IJISEJI(NEZ) 2,500,000& » 2HME 5,000
o A2 3,000,000& * 1M E 3,000
oSEIIAFHED| 700,000& * 1M E 700
NHMEIME stsd 29 50,378 41,028 9,350
101 @121l 18,378 16,028 2,350
04 JI2ZtH2ZXNEE S 18,378 16,028 2,350
ONHMEINESESE &4 21AHH| 18,378
PR 60,240& * 230 13,856
oxFaY 60,240& * 47 2,832
o 2tAlY| 3,000 = 230 690
oY A FIHY| 500,000& = 23| 1,000




SAM
X XH - U
L= B

o
SER

BB AL A
SARN 2BEZ WA
AINZANE 2Y (BN SE3IH)

5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
201 Bt 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
ONHME|HESSHE 24 5,000
206 M = dl 27,000 20,000 7,000
01 X2 4| 27,000 20,000 7,000
Os=2d 90l &€ HEAE ME 10,000
OXstsZ 2e 29 Mg #Y 17,000
g4 22 181,180 162,860 18,320
201 LBt 9H]| 54,200 51,000 3,200
01 AP 22| H| 17,000 17,000 0
OFZELAN =22 17,000
oK/ U42 52 180,000 = 43| 720
oE LS EELA 190,000& * 43| 760
CRY U YRS MESHAA
4550008 * 24 = 123 10,920
CHANE SHIH HEAA +48
3,500,000 = 13| 3,500
otaRL SAK HEAM 242
1,100,000& * 13l 1,100
02 232%H4| 37,200 34,000 3,200
OZEQ9XHelAlE SFAl2e 15,200
odRLAI ME & A2
3,800,000& = 2CH = 23] 15,200
OLZAXNS=HEHI(TMS) QIEF2E 22
1,833,300& * 12& 22,000
206 M = dl 105,480 96,360 9,120
01 =4l 105,480 96, 360 9,120
OAEFR | 62,400
oRIIDEX S&H 3,400 = 6,000kg 20,400
o2J|DNEX S&AH 1402 = 300,000kg 42,000
Ox&XEs ESHEH 228 2 18,000
O XH2AE 2EME 7
330,000 = 123] 3,960
O HelAlE dE 22 40,0008 = 52804 21,120
207 A0 | 4,000 4,000 0
03 A& 32| 4,000 4,000 0
OAE AT 4,000
o AlH Al AlSF 2 100,000& = 20 2,000
ocaldAl JIXM F¢ 100,000& *» 20= 2,000
405 KHoaHFE S HI 17,500 11,500 6,000
01 XAt 2 E F S| 17,500 11,500 6,000




= - 4 14
N X8-S (3H) - MEAY - B %Eﬁ HR=2
O=2ZZTH 2 (1) 17,500
22T SH=E (220 (DE3H)HEIAE EXALY 905,000 1,565,000 A 660,000
=2 633,000
Jl 57,000
Al 215,000
401 AlEHIZL 201 Y| 905,000 1,565,000 A 660,000
2 633,000
Dl 57,000
Al 215,000
01 Al&H| 884,739 1,122,604 N 237,865
OZ2Z20t+=1DEstMHelAEE XA 884,739
2 633,000
J| 57,000
Al 194,739
02 22l 14,687 439,065 N424 378
OZ23ot+=1DEF el AEEX AL
884,739,000 = 1.66/100 14,687
03 A& =i bl 5,574 3,331 2,243
OBBot+ DT Ml A& &AL
884,739,000 * 0.63/100 5,574
WHSAZH (SRS L) 1,865,239 1,736,999 128,240
A2YH|(=EMSH EESIH) 1,833,459 1,706,747 126,712
degH (S EMLSEE A) 1,833,459 1,706,747 126,712
101 Q124 H| 1,799,859 1,673,867 125,992
01 2 1,233,830 1,159,227 74,603
=23 805,355
ohz 75,165,000 ~ 1¥ 75,165
SX= 3,932,300 * 4% « 12& 188,751
o7g 3,260,800 = 12% * 12& 469,556
o83 2,038,000 * 1 « 12& 24 456
o9z 1,682,6008 1 = 12&€ 20,192
o X R I A&l 778,120,000 = 3.5/100 27,235
(OFSF=E=8= 730,190,000& * 1/12 60,850
OAZt224% 93,295
SYo=1
11,0742 = 4H = 67AI2F ~ 62/100 = 12€ 22,081
o723
10,003 * 128 = 67Al2F = 62/100 » 12&€ 59,836
o83
8,663 * 1 * G67AI2F * 62/100 = 12€& 4,319
o9z
7,830 « 1 * G67AlI2F * 62/100 = 12€& 3,904




SN SESHAL A
H: HNSHAH (TSI AIHL)
Solr Ay (MM SBEH) (el &)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei HRs2
o XM M & H 90,140,0008 = 3.5/100 3,155
OJNs¢ 23,760
o B Xt 40,0009 * 179 » 12¢ 8,160
o JIEHIHE 20,0009 * 40 « 128 9,600
o EM XY 60,0002 = 5% » 12¢ 3,600
o AT Xt 100,0008 * 2% » 12@ 2,400
ONHEHIEE ¢ 7,474
clSsn 467,0802 * 4% * 43 7,474
OF=F=E=IFNF= 22,200
© 25 0 4 130,0008 * 78 » 12@ 10,920
=20 0| & 251 0] B
10,0009 * 5% « 12€ 6,600
o150l 4 20012 80,0008 » 2% * 12& 1,920
=100l 4 15018 60,0008 » 3 » 12¢ 2,160
o5 0/4 10012 50,0008 » 1% * 12¢ 600
ogz24+y 50,0009 = 19 « 128 11,400
oneseary 20,478
©43  4,382,2009 * 1 « 128 * 4.1/100 2,157
53  3,731,4009 * 3% « 128 * 4.1/100 5,508
=63  3,192,1009 * 6% « 128 * 4.1/100 9,424
o783  2,738,9002 * 2% » 128 x 4.1/100 2,696
o XM I & H 19,785,0008 * 3.5/100 693
OEx=gea¢ 47,880
oXLY 80,0002 * 199 » 12¢ 41,040
ocELX22LY 30,0008 * 19¥ » 12¢ 6,840
OX K ZAH 130,0002 * 199 » 12¢ 29,640
OYRSIIHl 730,190,000 * 1/12 = 120/100 73,019
Ot Aty
805,355,0009! = 1/12 = 86% » 1/30 » 20 38,479
02 JIEFE E % 267,040 261,216 5,824
OHIZH 267,040
=J|23 2,934,0009 * 4% « 128 140,832
o¥y24y 140,832,000 * 1/12 11,736
cIIESLY 3,840
-t 2 Xt 40,0009 * 49 * 128 1,920
-JIEHE 20,0002 » 8% » 12¢ 1,920
oXtHSHIBE RS 3,737
-DSst 467,080 * 22 « 43] 3,737
oXAULY 80,0008 * 4% « 128 8,640
oRE+Y 50,0009 * 4% = 128 2,400
o¥ZAY Itar3 4,200
-25 0] & 130,0009 * 1% « 128 1,560




SN ARBAANLL
o WHSAPH (LHEIAYL)
Sl oIS (ARMSE SN

5 = o ofEL==

SA - BAEN) - NRAY - LS e

o

-20= 0l & 25 0(2

110,000& =+ 29 = 128
oA ZAHI 130,000 * 4% = 12&
oXNgExH 125,000 = 4% = 123
o &Sl 50,000& = 49 » 128
o HE S Oty|

140,832,000& * 1/12 = 120/100

o HIE &I

140,832,000% = 1/12 = 86% * 1/30 = 20

cNLRRLY
9,209 * 4% x 67AIZt * 128
cortaR sy
3,07020 « 1% « BAI2H * 3652
cgYaRLy 74,0288 « 1% * 1152
oS4+X224Y 30,0008 * 5% « 128
o X LMl 208,741,002 * 3.5/100
03 RINHA2ZRE 4
00|52
oJl23 1,430,0502 * 4% » 128
oA 2
Slgag 1,034,5102 « 4% * 43|
-2y 1,034,5102 * 4% * 23]
L] 1,030,3608 * 4% * 53]
oMLY 70,0008 * 4% * 122
cstgesy 90,0008 * 4% « 128
olE4Y
-bH 2 Xt 40,0008 * 4% x 128
SJIERObE 20,0008 + 6% * 128

-1ssD 467,0808 * 18 « 48]
SE=E= RN 160,0008 * 4 + 122
cDEE XY 140,0008 « 4% * 122
o JHH X R Y| 110,008 * 4% + 122
SE=EESIT:] 1,241,420% * 49 = 2B

cxWI2R4Y

NEEIELES-

14,2662 * 42 * 20AI2} * 128

S HEL BN
14,1288 * 43 « 42 » 122
COHXNRITEINAEY 114,128 » 43 « 18
o2t Ayl 1,800%0 * 4% » 302 * 12%
oI = 100,008 * 42
c#Z0ISE MTMEEE 300,008 * 123

2,640
6,240
6,000
2,400

14,084

6,729

29,617

8,965
8,514
1,800
7,306
298,989
207,453
69,075
45,438
16,553
8,277
20,608
3,360
4,320
3,360
1,920
1,440
1,869
1,869
7,680
6,720
5,280
9,032
35,609

13,696

21,913
8,218
2,592

400
3,600




SN 2FEBIANAA
HH: BHSYAL(LTHIAMYL)
Srol: ol (FENE S5 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O8=s HMel & A2 (= R) 35,378
oJl23(3&8) 1,165,080& » 1 * 12¢ 13,981
o0z 1,165,080& » 1H = 400% 4,661
oMATAHSH 160,000& » 1H = 12& 1,920
cExgRSE 50,000& » 18 « 123 600
ogxd 40,0003 ~ 198 = 128 480
o Z AU GAH| 120,000& = 1¥ » 128 1,440
o JMAHIE =4I 110,000& » 1H » 12& 1,320
o HEFIHHI
1,165,080& = 1H * 60% * 22/ 1,399
cxBIeLY
14,1503 = 18 = 10Al2t = 123 1,698
cpuaeLy
- 113,200& » 18 » 42 « 12& 5,434
cHXURSFII==E 754168 « 1H 12 905
SHMMEREE 120,000& * 123l 1,440
oIl =l 100,000  1& * 13l 100
O FAZe(HEEX) 28,012
=lles 1,206,360& * 1H * 1228 14,477
oca0iz 1,206,360& » 1H = 400% 4,826
oMAT ALY 160,000& » 1H = 12& 1,920
oA 100,000& = 1H » 128 1,200
o Mg AY| 120,000& » 1H » 12& 1,440
= JHAH 2 =4l 30,000& » 12 = 128 360
o FEFIHHI 1,206,360 * 60% * 22| 1,448
S RLPNE= RS 75,0083 * 198 = 12 901
UMM EEE 120,000& * 19 » 128 1,440
OXliot= &3 el 28,146
oJl23(3z8) 1,165,080& * 19 * 12¢ 13,981
SRS = 1,165,080& * 1% * 400% 4,661
oXHTHTE 160,000& = 1H » 128 1,920
ocSxgfsd 50,000& ~ 19 = 128 600
ogsd 40,0003 * 198 = 128 480
o ZUZ A 120,000& * 19 128 1,440
= JHAH 2 =4l 110,000& = 1H = 128 1,320
o FE S IHHI
1,165,080& » 1F * 60% * 23| 1,399
cHXRSEIMNYE 754163 « 1H » 12 905
cMEE = 120,000& * 123 1,440
204 AR HH| 33,600 32,880 720
02 252 Xl 33,600 32,880 720
O dgE=xtl 33,600
ob=g 250,000& = 1H » 12& 3,000




SN SRBIMYL
Ha: HYSYAH (ATBBAYL)
S CIESAH|(=EIMNNH SLEH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
SYr=1 155,000& » 4% = 12& 7,440
o7g 140,000€ ~ 129 = 128 20,160
o8~92 125,000& » 2% = 128 3,000
JI2ZH (2L EL3IH) 31,780 30,252 1,528
JI2dH (=EIHALAELESIH) 31,780 30,252 1,528
201 LBt 24,540 22,812 1,728
01 AP 22| H| 24,540 22,812 1,728
OBAd&2d9 I8 250,000& * 12& 3,000
OMBEE JRAU(ZAX S 200,000 * 12& 2,400
OHZFAIRID| ASRE 29
300,000& = 8CH = 23| 4,800
Oogdgs o2 35,0008 * 12& 420
O&Fzx=Jd&zs 52,000& = 5084 = 128 3,120
O2JI¥FHI(€2D1s) ez
36,000& = 1CH ~ 12& 432
O=3&H| 8,000& * 18 » 6L x 12& 10,368
202 04 d| 1,280 1,280 0
01 2Ll 1,280 1,280 0
OHlAZF 2L 1,280
203 & R =&t 4,760 4,960 A 200
02 ERAIPAH 2 F=EH| 1,160 760 400
OXFIMA L2 E=AH| 40,000 * 29¥ 1,160
04 EASHEIRFAH| 3,600 4,200 A 600
OBAM2g9g2=8Y| 300,000 = 12& 3,600
204 = 2 4= A H| 1,200 1,200 0
01 SR AH| 1,200 1,200 0
OXMZ LRS- A 1,200
obhz 100,000& = 1 = 12& 1,200
WRE=S(LESAANIA) 3,180,000 20,000 3,160,000
WHWEHH (=S EESIH) 20,000 20,000 0
LHEAHH K= 20,000 20,000 0
701 JIEISI HSHEZ 20,000 20,000 0
02 BIIEELEIHIAANTEEZS 20,000 20,000 0
OB+ EMBE +88% 242
1,000,000,000& = 2/100 20,000
BEXES(FEMNL EE3H) 3,160,000 0 3,160,000
BAX = 3,160,000 0 3,160,000
802 Bt&t 2 DI E} 3,160,000 0 3,160,000
0Ol Z2DEX3tte = 3,160,000 0 3,160,000
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2N SAIAFD
Hu: ABA FHSNEA
©el: IS 2 (ALY SE3H) (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
05 RIZtR & = 3,960 3,840 120
OEtsl Y UototE <22l
180,000& * 12E 2,160
OEtsl g dUotmE Jtz IXAN =2 A
22l tl 150,000& * 12& 1,800
S0 FEEZ 22 9,960 9,960 0
201 ¢er24| 5,760 5,760 0
01 AF22t2l bl 5,760 5,760 0
OSIIREE LS===2 1,200& * 200l CH 240
Ogsadx==2 3,000& = 40AICH 120
O8N Hilx=== 2,000,000 = 1AllCH 2,000
O8iz EXsS8d =8
200,000& * 1AICH 200
O8lts MAYE & FHEELH
270,000& * 10AlICH 2,700
Osltz el MatEd sl 500
202 (44l 4,200 4,200 0
01 S LHOYI 4,200 4,200 0
Okt 7as =¥ 800
O8k=s &S &2 1,000
O8i=s HMEXN E82=dH 2,400
NYU =S g2z pie 1,105,925 1,083,725 22,200
802 Bret =2 JIEt 1,105,925 1,083,725 22,200
03 Ugd=s 1,105,925 1,083,725 22,200
OSE1x ANIOIE LdFESS &
3,150,000& = 15AITH 47,250
OEASH2X AMIOIIE gFES3 Bt
21,000,000& = 10AMICH 210,000
O B LUOIE dFES3 & 848,675
©3%A(EE) 10,154,000& » 3AITH 30,462
©39B(EE) 10,154,000& = 1MICH 10,154
S49A(H &) 20,000,000 = 5AllCH 100,000
S 49A-1(H &) 20,000,000& =« 1Al CH 20,000
o 49B(H &) 20,000,000 = 3AllCH 60,000
©49C(H &) 20,000,000& =« 1AlICH 20,000
©49C-1(& &) 20,000,000 = 1Al CH 20,000
©49D(N &) 20,000,000& =« 1Al CH 20,000
o5B(EE) 23,500,000 = 1Al CH 23,500
©50B(H &) 35,000,000& = 1AICH 35,000
o5 (EE) 22,488,0002 * 1Al CH 22,488
o590 (& &) 34,000,000& * 5AICH 170,000
oB5E(EE) 22,515,0002 * 1AlCH 22,515




EM: TAASD
M AP FHSHEN
Sl BEEE ol (FEYAY SHEH) (sl &2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o59E(X &) 34,000,000& * 3AlICH 102,000
o5F(HE) 22,556,000& = 1AlICH 22,556
o 59F (X &) 34,000,000& = S5MICH 170,000
SSTFY FTHOE ISt H(FHAY SE3IH) 2,589,240 2,148,024 441,216
ANZUU=E AI&= I 100,720 100,720 0
401 A& HIZ 201 I 100,720 100,720 0
01 A& HI 100,000 100,000 0
O NgzFe Age Z
33,333,300& * 394 EHX 100,000
03 AIE S THHI 720 720 0
O NYUTFS AIZE ZHl =0yl
100,000,000& * 0.72/100 720
ol g1yl 2,488,520 2,047,304 441,216
1 08l bl 2,488,520 2,047,304 441,216
1 L EHoil gl 2,488,520 2,047,304 441,216
oolglsl 2,488,520
HHRSAAH (TAAS D) 63,755 62,649 1,106
A (=AY SE3I) 63,755 62,649 1,106
ol 2AH| 63,755 62,649 1,106
101 1A Hl 63,755 62,649 1,106
03 RIAHAZZ T E += 63,755 62,649 1,106
OANZdt=aze 22 BE(1Y) 33,143
oJllEs(1628) 1,413,940& » 122 16,968
SRR 1,413,9402 * 400% 5,656
oSS 50,000& = 12& 600
oA 160,000& * 12& 1,920
ogxd 40,000& = 12& 480
o Z A GAH| 120,000 * 12&€ 1,440
o A E =4I 110,000& * 12& 1,320
o HEFIHHI 1,413,9402 * 120% 1,697
oAt 2 Z2RSE
16,6353 » 10AI2F = 128 1,997
CcHIIRSFIIN==E 88,720& » 12¢ 1,085
O=0=¢ 3 &2 22N BE2x(1Y) 30,612
oJl2z(1588) 1,379,390& * 12& 16,553
cd0= 1,379,390& * 400% 5,518
oXMAFA+Y 160,000& * 12&€ 1,920
o Z A G A 120,000& * 122 1,440
SRe R R 100,000& * 12& 1,200
o JMAHIE =4I 30,000& = 12& 360
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> A
A & 0l & AF 2 E A A
2018 & 204 228303 28Y SEIAH A
SH: FOIMBIHA
HE: HASS MEOF N
o2l =220 AA(AEESII229 SEaH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FOMET A 592,694 882,159 A 289,465
= 67,932
< 10,931
Al 513,831
MNASE 42y X 503,431 794,532 A 291,101
= 39,812
< 10,931
Al 452,688
92320 NI (dz2E3JI=z29 SL3lH) 503,431 794,532 A 291,101
= 39,812
< 10,931
Al 452,688
o4=230213 2L (XHA) 443,861 699,492 A 255,631
308 XtXIEHH SOl A 443,861 699,492 A 255,631
07 IXNSHH UL S 443,861 699,492 A 255,631
OozeEsdzd 23 442,616
OHZMELIH 2E3 1,235
OFNFSRNR= K= = =) 10
=220 YR FA 7,920 7,714 206
< 3,960
Al 3,960
201 Let249] 3,620 3,514 106
< 1,810
Al 1,810
01 At 22l 2,140 2,034 106
Od=2=S0WE & HEAHH 7 300
< 150
Al 150
OgzsdiE g2 1,320
< 660
Al 660
O2A2=50 o3 &Y 520
< 260
Al 260
02 2324l 1,480 1,480 0
OA=s0s &8 RERS 1,480
< 740
Al 740
202 4l 4,300 4,200 100
< 2,150
Al 2,150
01 = LH 4 Hi 4,300 4,200 100
Ogz2s J|2 38 2 ==Xk 2 2,300
< 1,150
Al 1,150
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SH: FOIMBIHA
U HASS MPOY X
G 9220 N (9283 I229 435 H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 20,562
< 3,598
Al 2,570
o1 s R=dl 26,730 48,026 N21,296
OA2dME S X Y| 26,730
= 20,562
= 3,598
Al 2,570
WEES(FoMSR ) 24,470 24,470 0
BHIE(2ESSEIH)(AsEzII228Y" S 24,470 24,470 0
)
BHEINES(2ESELESAH) 24,470 24,470 0
802 et 2| E 24,470 24,470 0
01 2DEX3EtaE =2 19,498 19,498 0
OZD2EZ FHTU vy 19,498
02 Al - EHIEXZ2EHE 2 4,972 4,972 0
OSHEXEZ YT v 2,714
ORYoISE paa ey 2,258
HHR2ABH(2ESII=2 EH3H) 64,793 63, 157 1,636
2 28,120
Al 36,673
SlERdH|(E8ESII=2 EEIH)(A2ESII=22Y 64,793 63, 157 1,636
SEEE)
= 28,120
Al 36,673
OlHRYY(ABEEIIZ SHHN A230RAAY 64,793 63,157 1,636
)
2 28,120
Al 36,673
101 Q124 H] 64,793 63, 157 1,636
2 28,120
Al 36,673
03 RIAHL*ZZXHE 64,793 63, 157 1,636
O9z220 a2 (1Y) 29,643
ocllEa 1,206,3602 1 = 12&€ 14,477
SR = 1,206,360 = 1 % 400% 4,826
o d&EF Y| 1,206,360 ~ 1™ * 120% 1,448
o M FAlY| 120,000 = 1200 & 1,440
o &G 160,000& * 1290 & 1,920
oDIR G 100,000 = 1200 €& 1,200
o Jl A B2 & H| 30,0008 = 12& 360
ociaassdsx 75,0083 * 12& 901
cABEZ2(DAEHEZ) 255,890& * 128 3,071
O9Z220 AtalZel(19) 35,150




SH: FOIMEX A
HM: H¥2HAH(A2ESI]=2 EE3H)
SR Q2| (22EEI|I2 EY3H)(ASEBSII22Y EH23H)
- - 4 1A
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁ}l&ﬁ
ollEgd L ALY = 32,230
= 28,120
Al 4,110
o M FAH| 120,000 = 128 1,440
o ™A S IHY| 500,000 = 23| 1,000
o JIAH B Xl 40,000 = 128 480




<

n0

Kio

Hl w

42,600
42,600
42,600

200

200
200

H3r
Wikd
RIS

1,759,400
1,759,400
1,759,400

11,700

10,000
10,000
1,700
1,700

40,000
40,000
40,000

g Al A

o,
=

Off &t 24

1,802,000
1,802,000
1,802,000

11,900

10,000
10,000
10,000
1,900
1,900
1,900

40,000
40,000
40,000
40,000

Ol &b A

Hl

Al
oA &

=

=

pus §
=]

N3P

<
[gi]

ol
20
oJ

Kk

G
o
[0
iy
o
X0

K

30
0K
1J
oll

O8X= MEX M

01 AFR2telHl
307 gl2tol ™

i
wr

Ok

.

~

ol

<+
iy

Ok

il

Al

00
il

K0
g
il
%0

K

501 8X&t=

o
00

~

oJ

42,400
42,400
42,400

1,707,700
1,707,700
1,707,700

1,750,100
1,750,100
1,750,100
1,750,100

01 £Etol gl bl
O0ilblHI

801 Ol 8l

ol gl gl




N & o & AF & H Al A
20188 & =04 s3EHA=L & 2el SE3H &H
M FHEHY
M S0 NAHAH ==
el AIER ol ¥ 2% BASH(SIUNZY U el SHIH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Z M & Mt 7,651,000 2,756,000 4,895,000
Sa0Y NEHMA 2= 7,617,813 2,723,255 4,894,558
ArHEX el ¥ 2 243 (s3HA=E 2 2e) 7,617,813 2,723,255 4,894,558
Sg3)
s3 - JIERAHI 28 2 786,237 83,295 702,942
101 14 Hl 17,974 15,532 2,442
04 JIZHHZ2XREE S 17,974 15,532 2,442
Os3 - JIg\ XX S#FHH| 17,974
olles 60,2403 * 8H » 13 = 23| 12,530
oFFH 60,240& * 8F = 58 * 23| 4,820
o ZHAIH| 3,000& = 8F » 13g * 23l 624
201 2et24d] 25,263 25,263 0
01 At 22l 8,420 8,420 0
Oozg=sg % 23EINN === 5,000
Os3HX MR I3l
200,000& = 12& 2,400
Od - 20 gtz 60,000& » 12& 720
OYEHANRIII A2F 7¢
300,000& * 1CH = 13l 300
02 2324gl 16,843 16,843 0
O=s3HX Jt2s Iz 600,0008 = 128 7,200
O=s3HX datg AEZ 100,000& * 12& 1,200
ORHHIAAE KRX2e2l  100,000& = 128 1,200
O&Jlerdael 3 100,000& * 12& 1,200
OsHAANRA dtd AAEZ
500,000& » 43 2,000
Os3HX E3tx =HE 500,000& = 13| 500
OZS0AE |X2e2 3,000
OsSHXZeARa ANEHUHE RILILXIA 543
202 04l 7,500 7,500 0
01 = LHA YI 7,500 7,500 0
Os3HX 43t dRF2 5,000
Os3HA 22l gRF 2,500
206 = Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
OM&Es g3tzs ¢ 3,000
OssHX SZEH N2 2,000
401 Al HI L ROl 730,000 30,000 700,000
01 A& HI 720,000 20,000 700,000
Os3HX AlIE=S 3H & 2= 120,000
OFLEsZHR 2AelARa M= 600,000




SN ZRZ D
LR PSIE I

SRl JYCHX] 22 ¥ 29 24 (s2SHANEL & 2e SE3H) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03 Al& 201 YI 10,000 10,000 0
OHE ¥ sdli=s32&H X S 10,000
405 XtabE SHI 500 0 500
01 AL 2 S F SHI 500 0 500
OA8YEN 500
ol 5l Bl 6,831,576 2,489,960 4,341,616
801 0l Bl Bl 6,831,576 2,489,960 4,341,616
01 Btail bl gl 6,831,576 2,489,960 4,341,616
(@) (i1l 6,831,576
HHSHHH (FHE ) 33,187 32,745 442
OlESAY|(s 2 XA L 22 EESIH) 33,187 32,745 442
ol 2AH| 33,187 32,745 442
101 2124 1| 33,187 32,745 442
03 I HLZZAHE 33,187 32,745 442
Os2H12e 220 B 33,187
ocllz2 1,5677,480& = 1% * 12& 18,930
SENI0: =) 1,577,480& * 400% 6,310
cHIRSEINTY 94,4808 x 1Y » 12 1,134
oY A F It 1,577,480& * 120% 1,893
oz &l 120,000& * 12&€ 1,440
oXMATALE 160,000& * 122 1,920
o0l 100,000& * 12&€ 1,200
o JtAHIE = HI 30,000& = 12& 360




N = 0l & At & Ml A

2018 = =0lah =& 2e SE3H A

AN HAEnsSH
HM:. Hzns 4 XN
SRR PHANM(FUHRBR SLEIH) (29l & 2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A8 NS 650,257 791,759 A 141,502
szns =4 AA 650,257 791,759 A 141,502
FAEX SN (=RE2e S5 AH) 81,960 81,960 0
SYHFEI NS 81,960 81,960 0
201 et A | 71,960 71,960 0
01 AFR2t2l Yl 28,200 28,200 0
Ogt2H| 3,000
oANNMEXA & WEHSDXA UM
100,000& * 10&8fA 1,000
CNEMBAR MHARII| ADE 79
500,000& = 2CH * 23] 2,000
OEYFEX ROULZAIAG S22
2,100,000& * 12& 25,200
02 35244l 43,760 43,760 0
oREe2 2,500,000& * 12& 30,000
OSYHFEIX RO AIAE A& 22 13,760
olME3 4= 65,000& = 10J| = 12& 7,800
oc&AXUNE 8,000& = 107] = 12& 960
ocEZEYHFAEX ROEIMH RANES
500,000& =« 10CH * 13l 5,000
202 04| 10,000 10,000 0
01 2LH0HI 10,000 10,000 0
OuUsESXNE gRF4 10,000
SYFUE 012 HMHIA M2(F=EXHE2e SE3H) 568,297 709,799 A 141,502
SE=XE 4 22 21,191 221,191 A 200,000
201 LEt2 Y| 11,191 11,191 0
01 At 22l Yl 11,191 11,191 0
OQuszMdM 222 M 2,200
ol 48t 50,000& * 10004 = 23] 1,000
o Q) 2HEt 60,000 * 1004 = 23] 1,200
OSg=XE HMEdH gxs 5,720
oldIEH 440,000 = 4CH = 2¢ 3,520
oS 550,000& = 2CH * 23 2,200
QTS BEFIUE X AIS2(257m) 1,846
oMAES BIUFIE BX AlE2(257m) 1,506
oECA A BIEFINE BX AI22(4,177
m) 340
OFX&cId N2 & g9& 1,425
oM 22,000& * 259 * 13 550
o X)) 35,000& = 259 = 13| 875
401 AIEHIL 200 10,000 210,000 A 200,000




2N
X ZH -
L= B

el

AEnsH
sns 54 N&
Do =

o o T

A& 018 AMHIA MID(F=XE2el SEAH)

Ooilgl bl

547,106

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 A& HI 10,000 210,000 A 200,000
O3E=XE 0l & F=XE EXE F 10,000
=0l Z ety et 400,000& = 1000 2 4,000
oFXE EXIE 200,000& * 100H & 2,000
oF=XZA HEX 200,000& * 200H & 4,000

ol Bl gl 547,106 488,608 58,498

801 OllHI bl 547,106 488,608 58,498

01 £etoildl bl 547,106 488,608 58,498




20188 & 20

&b A=A E T

EA: TAASD

X DX &R TAHE

N = 0l & A

A

el FIDIZE TANEAL FU(SANLALUX S SH5H) (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Ei HRE2
TAAHA=SY 458,870 430,978 27,892
DIHXI&X T AlJHE 458,870 430,978 27,892
201 SAIHEANE HU(ZAHEALDUHAE A 458,870 430,978 27,892
EH3H)
HO|0|& S TAIHEANE B4 458,870 430,978 27,892
401 AIEHI 2L 2 0HY| 458,870 430,978 27,892
01 Al&H| 458,870 430,978 27,892
OFI0IYE TAIHEANE H=m3723 B4 436,689
OddHII=r& 22,181




—— A
N = 0] &F AF S & AN A
20188 = 20 A JIBHAIAE SE 3| H &X
EMN: EAASD
I Ol KIEE T AN
S9lr SADIBAIE SE(IBAIE SE5H) EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HDE
TAAHA=SY 32,529 31,797 732
DIHXI&X T AlJHE 32,529 31,797 732
T AIDIBEAIE S = (D|BHAIE SY3AH) 32,529 31,797 732
JBtAIE Y2 29 32,529 31,797 732
401 AlEHIZL 2 0HY| 32,529 31,797 732
01 Al& H| 32,529 31,797 732
OJ|BFAIE A XIAFS 32,529




20188 & 20

N =1PN

a

= DN [RSEE
COHUXIRE Y - 232e
D EEAFETSE XNFAY

o SEAFHIAX

Al

A

SN HH-S(BN) - MBAY - B il HlnE2
J ZH 58,204 63,985 25,781
= 58,204
HUEXAR e - 23522l 58,204 63,985 25,781
= 58,204
BAFHEXSE X2AS (2 AXNA_ELESH) 58,204 63,985 A5,781
= 58,204
BEAFHEIY IR Y 58,204 63,985 A5,781
= 58,204
201 Let24d] 7,100 7,100 0
= 7,100
02 2=2Z 4l 7,100 7,100 0
o7dolgrs 238 dIIsXNE
710,000& * 103l 7,100
= 7,100
206 M= Hl 30,000 0 30,000
= 30,000
01 = bl 30,000 0 30,000
Oss4E JIAHF SXAE HSAH 30,000
= 30,000
401 Al& I 28I 21,104 26,885 A5, 781
= 21,104
01 A& Hl 21,104 26,885 A5, 781
O=sdEA4d =H 21,104
= 21,104




